Historic Assay vs Elim Pulp Duplicate (CuT%) [/ "
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Historical Assay (CuT%)

Number of Samples = 192

Historical Assay average = 0.73% CuT
Elim Pulp Duplicate average = 0.72% CuT
R*=10.98



Plan View of Reported Hlstorlc Dr|II Holes (e ,EV.L.'{‘.".NG




Cactus East Drill Holes (Section A-A’) L.
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Cactus East Drill Holes (Section B-B’) L.

B BI
(@
i S,
A s
< Topograph
1501 N ~ PO
\ o .“
N\
1250 L S
\
\
\
1000 L \
\
N\
750 L N
\
\
500 L S
Overburden \\
250 1 \
"
0L
-
-
’
~-250 L A
N o
~ ,’ . Enriched
-500 1~ _ I~ _
- — — -

~J
=
=
64000 N D
Ier




Cactus West Drill Holes (Section C-C’) FaL ..

C c’
1500 L
Topography
||
1250 1 \ . Historical Sacaton Pit
A
Overburden |
—
-1 '
1000 0 e 0 |, o -
\Nec-v’ - doe(\" I N |_ 2
- - \e° —\\ g |. %
- i N - 1 ,
Phg _ = . | 5 CuT %
Oxid [ B -Ir [ % -100.000 <= [ < 0.000
750 L € ! : \.i‘\ L pam— 0.000 <= [JJ] < 0.100
| ) '»_ i — e B \ 0.100 <= [ < 0:300
'[' Enriched ii— = \ 0300 <= ] < 0600
g E - \ 0.600 <= [I] < 0.800
500 L \ |=h \ 0.800 <= [JJJ] < 1.000
= g h \ 1000 <= [JJJ < 1500
— — F' 1500 <= [J] < 100.000
L Pri i A | \\
£ rimary =
250 L b ¥ gz L \ - —-
E 'Iﬁ — r
& > = N
L = \
g & \
0 1 =i \
1 : \




Cactus West Drill Holes (Section D-D’)
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